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Question Number : 1 Question Id : 8247242927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Child development is divided into which of the following domains?
Options:

1. Motor, psychological, emotional and social

2. Physical, cognitive, spiritual and emotional

3. Physical, cognitive, motor and social

4. Psychological, Physiological , social and emotional

Question Number : 1 Question Id : 8247242927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247242928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following principal states that development proceeds directionally from head to foot?
Options :

1. Cephalo- caudal principal

2. Proximo-distal principal

3. Specificity principal

4. Quantitative change principal

Question Number : 2 Question Id : 8247242928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247242929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

As an infant Raghav was deprived of personal affection. In his late childhood he found considerate
teachers.Yet, he has issues trusting people and lacks courage to take risks. Which issue of

development aptly describes Raghav's case?
Options :

1. Continuity-discontinuity issue

2. Early- later experiences issue

3. Nature-nurture issue

4. Uniformity - individuality issue

Question Number : 3 Question Id : 8247242929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247242930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The play that facilitates children to understand other's thoughts , beliefs and feelings is:
Options:

1. Make believe Play

2. Parallel Play

3. Solitary Play

4. Independent Play

Question Number : 4 Question Id : 8247242930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247242931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of moral reasoning in Lawrence Kohlberg's theory do children believe that rules
must be enforced in the same manner for everyone and each individual must obey them as his

personal duty?
Options :
1. Good boy- good girl orientation

2. Punishment and obedience orientation



3. Instrumental purpose orientation

4. Social-order maintaining orientation

Question Number : 5 Question Id : 8247242931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247242932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pointing out to the level of the lemonade in her taller but thinner glass Sara teases her sister that
their father has given her more lemonade. Her sister does not respond since she had seen their
father pour the lemonade from her glass to Sara's and knew that both glasses contained equal

amount of lemonade. Given this context, Sara exhibits-
Options :

1. Centration

2. Animation

3. Seriation

4. Class inclusion



Question Number : 6 Question Id : 8247242932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247242933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Piaget, during which period of development, does the child begin to use symbols to

represent objects and logical reasoning emerges?
Options:

1. Pre-operational Stage

2. Concrete Operational Stage

3. Post- Operational Stage

4. Formal Operational Stage

Question Number : 7 Question Id : 8247242933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247242934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aman is trying to fix the pieces of a puzzle but he is struggling to fit the correct parts at the right
places. His mother provides hints and cues, in the form of how, what, why. According to Lev

Vygotsky's theory of learning this strategy of learning will-
Options :

1. Demotivate the child

2. Make him aggressive

3. Act as a scaffold for learning

4. Will not help in learning

Question Number : 8 Question Id : 8247242934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247242935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Vygotsky's theory, assisted discovery is aided by -
Options :

1. cognitive conflict.

2. peer collaboration.

3. pairing of Stimulus-Response.

4. reinforcement.

Question Number : 9 Question Id : 8247242935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247242936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Howard Gardner's theory of multiple intelligences, while of the following terms is
applied to the ability to perceive the visual worlds accurately and to perform transformation on
one's initial perceptions?

Options :

1. Bodily-kinesthesis intelligence

2. Spatial intelligence

3. Logical- mathematical intelligence

4. Intrapersonal intelligence

Question Number : 10 Question Id : 8247242936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247242937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hetal speaks Gujarati at home and is fluent in reading and writing the language.The medium of
instruction in her school is Hindi, a language she does not know. As per National Education Policy

2020, what measures must be taken by the school in this situation?
Options :
1. Hetal should be asked to speak only in Hindi at school.

2. All children should be encouraged to respect each other's native language to create a culture of

multilingualism.
3. Teacher should ask Hetal to forget whatever she learns at home.

4. Hetal should be shifted to the section where English is the medium for instruction.

Question Number : 11 Question Id : 8247242937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247242938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Gender' is-

Options:

1. determined at the time of birth.

2. predetermined genetic characteristics.
3. ascribed by social structures.

4. an innate quality.

Question Number : 12 Question Id : 8247242938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247242939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Diverse modes of assessment and education should be used by a teacher.

Reason (B) : The purpose of evaluation is to segregate the well-performing students from the rest

of the class.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 13 Question Id : 8247242939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247242940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of a progressive classroom?
Options :

1. Children as active participates

2. Flexible grouping

3. Mobile teacher

4. Focus on rewards and punishment

Question Number : 14 Question Id : 8247242940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247242941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Rashi tried a new method to assess children's understanding of concepts. She asked them to

frame as many questions as possible for the given answer. Her approach to teaching - learning is-
Options :

1. Child- centred

2. Textbook- centred

3. Didactic

4. Memorisation focussed

Question Number : 15 Question Id : 8247242941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247242942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In aninclusive classroom, buddy system and cooperation learning
Options :

1. should be discouraged strongly.



2. should be activity promoted.
3. will lead to stereotype formation.

4. reduce the learning outcomes for all.

Question Number : 16 Question Id : 8247242942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247242943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What should a teacher do for learners from disadvantaged and deprived Community in her

classroom?

Options:

1. Ask to get extra help from outside the school.
2. Make special sections for students.

3. Make ability based groups.

4. Form collaborative groups that use group diversity for enhancing learning.



Question Number : 17 Question Id : 8247242943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT, 1 AT FT 5 o STt 31§ A A F=ell 3 (70, 4T AT e

Options:

| Terame & aTew St Haw o o o e =)
, feratefart = form faemy st & =)

; TFTAT BTG T a7 =112

) AT T ST 0 ST AT 3 G o o0 W (e 1 FaTer 7 e

Question Number : 18 Question Id : 8247242944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which classroom is effective for including children with Attention Deficit Hyperactivity Disorder
(ADHD)?

Options:

1. Highly structured class where teaching is primarily through oral instructions.

2. Class with flexible time-table and seating arrangement where students work on the task of their

own interest.
3. Classroom where students sit still on their assigned chairs all the time to encourage discipline.

4. Classroom in which teacher gives higher order thinking tasks with complex instructions.

Question Number : 18 Question Id : 8247242944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T e ot ADHD (- SATeTaraeiTere T 2, 7 FTToTs 3 3 o, -1 e Tt
3

Options :

1 T WO FT e T T Hifgeh ST | T

, T el e HHE- AT S a3 # ogae & o e ?ﬂﬁﬁ%mgw T FE

; T ST faramdt o F fRerit Hie w i F

4 EF,E?ITEI?_'fmmum == o= =S AE FT calr::m C’-ﬂ%ﬂ??‘"ﬂﬂ . EET%|

Question Number : 19 Question Id : 8247242945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What kind of intelligence is possessed by people who think more divergently than others in a

novel situation?

Options :

1. Inter-personal intelligence
2. Practical intelligence

3. Creative intelligence

4. Naturalist intelligence

Question Number : 19 Question Id : 8247242945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247242946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dyslexia is associated primary with difficultiesin______
Options:

1. reading and writing.

2. motor movements.

3. drawing pictures.

4. hearing.

Question Number : 20 Question Id : 8247242946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247242947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about children are correct?

(i) Children are born to be like 'scientific investigators'.
(ii) Children are active explorers of the environment.
(iii) Children think like adults - only lesser than them.

(iv) Children are born to construct meaning of their environment through social interactive.
Options :

1. (iii), (iv)

2. (i), (ii)

3. (i), (ii), (iv)

4. (i), (iii), (iv)

Question Number : 21 Question Id : 8247242947 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247242948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Primary objective of analysing errors in students' work is-
Options :

1. to rank students and segregate them in ability-based groups.
2. to understand children's thinking.

3. to reprimand students for making any kind of mistakes.

4. to compare the efficiency of teachers at the school.

Question Number : 22 Question Id : 8247242948 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247242949 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning is influenced by:

i. Psychological factors

ii. Socio-Cultural factors
iii. School-related factors
iv. Teacher related factors

Choose the correct option.
Options :

1. (i)

2. (i), (ii)

3. (i), (ii), (iii)

4. (i), (ii), (iii), (iv)

Question Number : 23 Question Id : 8247242949 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247242950 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Giving students the opportunity to discuss their experiences of celebration of festivals in the

classroom and building upon that information is an example of using-
Options :

1. Behaviourism

2. Direct Instruction

3. Social constructivism

4. Textbook centred teaching

Question Number : 24 Question Id : 8247242950 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247242951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Instead of limiting classroom learning to textbooks, National Education Policy 2020 suggests that

learning and education should be-

Options :

1. based on rote-memorization of facts and knowledge.

2. based on increasing students' content every 3 months.

3. focused towards inquiry and development of critical thinking.

4, focused towards learning for exams.

Question Number : 25 Question Id : 8247242951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247242952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Mnemonic device is -

Options :

1. a technique that helps in remembering.
2. a technique for regulation of emotions.
3. an in effective behaviouristic strategy.

4. an example of procedural knowledge.

Question Number : 26 Question Id : 8247242952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247242953 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Anuj teaches EVS to class III and always does 'Brainstorming' immediately after introducing any

topic to his students. Which of the following would this strategy promote?

(i) rote learning

(i) perspective-taking

(iii) critical thinking

(iv) inquiry
Options:

1. (i), (iv)

2. (i), (iii), (iv)
3. (ii), (iii)

4. (i), (iii), (iv)

Question Number : 27 Question Id : 8247242953 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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5. (@), (i), (iv)
5. (i, i)

4. (i1), (ii1), (iv)

Question Number : 28 Question Id : 8247242954 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Fear of failure and pressure to achieve should not be induced in children to ensure

that every child gets good marks in examinations.

Reason (R) : For meaningful learning to take place it is important that children feel a sense of

physical and emotional security.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 28 Question Id : 8247242954 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247242955 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aliza, whose locus of control is internal would attribute her failure in examination to -
Options:

1. her lack of ability.

2. question paper being difficult.

3. bad luck.

4. teacher being biased towards her.

Question Number : 29 Question Id : 8247242955 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247242956 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher who wants her students to be intrinsically motivated should-

Options :

1. encourage competition in the class and make comparisons amongst children.
2. induce fear and anxiety among children.

3. offer materialistic rewards.

4. try to encourage curiosity in children and promote learning for its own sake.

Question Number : 30 Question Id : 8247242956 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Mathematics
Section Id : 82472484
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 824724160
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8247242957 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the secret number having the following properties

(i)It has three digit

(ii)It can be divided by 2, 3, 7 but not with 5

(iii)It is the smallest three digit number having property given in (ii)
and the sum of its first and last digit is equal to the middle digit.

Options :
1. 210



5> 231
3 132

4. 462

Question Number : 31 Question Id : 8247242957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 210

5 231

4. 462

Question Number : 32 Question Id : 8247242958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two fifth of a kilometre is same as

Options :

1. 300 meter



2. 400 meter
3. 500 meter

4. 450 meter

Question Number : 32 Question Id : 8247242958 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e TereATTeT T S1-uiEET WA T 2

Options:

1 300 HaT

5 400 T

3. 500 T

4. 450 T

Question Number : 33 Question Id : 8247242959 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the sum of all face values and place values of 5 in the numbers 25351 and 32557
Options :
1. 5100

5> 5120

3. 5025



4 5125

Question Number : 33 Question Id : 8247242959 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

25351 31T 3255 7 5 % @it Fifehd o1 277 SU1E 71 1 0T 41 w5
Options :

1. 3100

Question Number : 34 Question Id : 8247242960 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Flora’s fishing company catches 9000 kg of fresh fish every month. The selling price of fresh fish is Rs. 30/kg and the

selling price of dried fish is Rs. 120/kg, but when fresh fish dried it remainE of its weight. If flora sells dried fish, how
much more money she will get than if she sells fresh fish? A

Options :
1. Rs. 108000

5> Rs. 27000

3. Rs. 360000



4. Rs 90000

Question Number : 34 Question Id : 8247242960 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R 61 T e T 9000 ot Tt et e | e e fe 9 30 7/ e i

e e 1 o T 120 TR o e a1 g G o ma'-'m-ﬁw TR |9}
qmsu‘ﬂ@“’ﬂwwm%mwﬁ%ﬁﬁ W%ﬁm%”

Options :
1. 108000 97

5, 27000 FqF

3. 360000 T

4. 90000 T

Question Number : 35 Question Id : 8247242961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

= of total students in a school are girls and the remaining are boys. If there are 211 more girls than boys, then what
W||| be the number of boys in the school?

Options :
1. 1477

2. 844

3 211



4 633

Question Number : 35 Question Id : 8247242961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. 1477

2. 844

3 211

4. 633

Question Number : 36 Question Id : 8247242962 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A brick of length 20cm, width 10cm and thickness 5¢m costs X4.00. Praveen wants to build a wall having the following
measures: 1m height, Im length, and 5 cm thickness. How much amount he should spend for bricks in building the
wall?

Options :
1. 2400.00

> %300.00

3 $200.00



4 $100.00

Question Number : 36 Question Id : 8247242962 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 F400.00

5> %300.00

3. %200.00

4. %100.00

Question Number : 37 Question Id : 8247242963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The property that states 'the product of two numbers remains the same on reversing their order' is called
Options :

1 Associativity Property

o Commutativity Property

3. Inverse Property

4. ldentity Property



Question Number : 37 Question Id : 8247242963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 8247242964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the diameter of a circle is doubled, then what will be the ratio of new circumferences to the old circumferences?
Options :
1. 2:1

3 14



Question Number : 38 Question Id : 8247242964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1_211

Question Number : 39 Question Id : 8247242965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Class 5 student Manoj went to get milk from Maya's house which is 500m away to the north of his house. After coming
hack to his house, he went to his school which is situated 1km to the east side of his house. In school he was asked to
draw the route from his house to both places. First he marked a point H on the paper as his house. Then he marked M
for Maya's house and S for his school. Which of the following is the most appropriate representation.

Options :
1.5 is marked to the right side of H at a distance 2 times that of HM

2. Sis marked below H at a distance 2 times that of HM

3 S is marked to the right side of H at a distance equal to HM

4. Sis betweenHand M

Question Number : 39 Question Id : 8247242965 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8247242966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Perimeter of a square is 48cm. The perimeter of a rectangle is equal to the perimeter of this square. The length of the
rectangle is 4cm more than its breadth.

The difference in areas (in cm?) of the square and the rectangle is
Options:
1. 4



Question Number : 40 Question Id : 8247242966 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.4

2 48

3. &84

Question Number : 41 Question Id : 8247242967 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teacher showed some pictures to class 1 children and asked them to arrange in sequence of events happening
(a) Playing cricket (b) Taking bath, (c) Eating food and (d) Reading books. Through this activity

Options :
1. Teacher cannot introduce the concept of time and sequence of events as these events can happen in any order.
2. Teacher can develop the concept of time only.

3 Teacher can develop the concept of order of events.

4. Teacher can develop good habits of sequentially doing things.



Question Number : 41 Question Id : 8247242967 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8247242968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A cuboidal box is 14 ¢cm long, 11 cm broad and 8 cm high. A cubical box has side 11cm. Neha wants to pack cubes of
side 1cm in these boxes. The number of cubes that can be packed in the cubical box exceeds the number of cubes
packed in the cuboidal box by the following number

Options :
1. 99

5> 100

4 101



Question Number : 42 Question Id : 8247242968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 99

> 100

3. 98

4 101

Question Number : 43 Question Id : 8247242969 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dipu wants to paint all the four walls of his room. All the walls are of rectangular shape and opposite walls are of same
measurement. If the size of the walls are 4m X 3.5m and 4.5m X 3.5m and cost to paint the wall is X22 per square
meter, what will he the total cost to paint the walls?

Options :
1. X1,309
> X1,232

3 $1,386

4 $654.50



Question Number : 43 Question Id : 8247242969 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ®1309
2 ®1232

3 %1386

4. F654.50

Question Number : 44 Question Id : 8247242970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The departure and arrival times of 4 trains from New Delhi to Bhopal are given below:

Train Departure Arrival
Bhopal Shatabdi 06:00 14:07 (same day)
NDSL VSKP AP SPL 20:00 04:30 (next day)
NDSL TVC SF SPL 20:10 05:20 (next day)
KLK SNSI SF SPL 22-25 07:40 (next day)

Which train will take maximum time to reach Bhopal as per the schedule?
Options :
1. Bhopal Shatabdi

2. NDLS V5KP AP SPL



3. NDLS TVC SF SPL

4. KLK SNSI SF SPL

Question Number : 44 Question Id : 8247242970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 TOTeT STATeET

> NDLS VSKP AP SPL

3. NDLS TVC SF SPL

4. KLK SNSI SF SPL

Question Number : 45 Question Id : 8247242971 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Isha’s uncle’s house is situated 150km away from her house. With 1 litre petrol she can travel 15km and it costs 395.00
per litre. She has % 2500.00 with her. If she goes to her uncle’s house and returns by filling the necessary quantity of
petrol, how much money will be left with her?

Options:
1. X350

> %500

3. 2600

4 1,550

Question Number : 45 Question Id : 8247242971 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 350

5 %500

3. %600

Question Number : 46 Question Id : 8247242972 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following represents the correct sequence of development of geometrical understanding according to
Van Hiele's theory?

Options :

1. Recognition, Relationships, Analysis, Deduction, Axiomatics
2. Recognition, Analysis, Relationships, Deduction, Axiomatics
3. Analysis, Recognition, Deduction, Relationships, Axiomatics

4 Analysis, Deduction, Recognition, Relationships, Axiomatics

Question Number : 46 Question Id : 8247242972 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 47 Question Id : 8247242973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statement is NOT correct about the nature of Mathematics?
Options :

1 It is a science of space, magnitude and measurement
> Mathematical knowledge is exact, systematic and logical
3 Mathematical language is well defined and clear

4. All Axioms and postulates are proved facts in Mathematics.

Question Number : 47 Question Id : 8247242973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8247242974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a math unit test, Ms. Fathima has included a question “if the sum of two numbers is 17, what are the numbers?”
This an example of



Options :

1. Multiple choice question
o Context based question
3. Closed —ended question

4. Open— ended question

Question Number : 48 Question Id : 8247242974 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8247242975 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements, and choose the correct option:
A. Criterion - referenced assessment is to evaluate the learning of the students with respect to a criteria.
B. Norm - Referenced Assessment is useful in diagnostic testing and remedial teaching.



Options :

1. Only statement B is correct.

2. Only statement A is correct.

3. Both statements A and B are incorrect.

4. Both statements A and B are correct.

Question Number : 49 Question Id : 8247242975 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 8247242976 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Manpreet has good mathematical reasoning, so she will have:



Options :
1. Ability to think logically and systematically

2. Ability to recall definition
3. Ability to do errorless calculation

4 Ability to recite mathematical formulae correctly

Question Number : 50 Question Id : 8247242976 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8247242977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
According to Kothari Commission (1964 — 66),

Options :

1.



Mathematics should be made a compulsory subject for the students of classes / grades | to X, as a part of general
education.

It is only an imagination that mental abilities, discipline, cultural, social and moral values are developed in students by
2. Mathematics.

3. Analytical reasoning, thinking, self-confidence and emotions are developed in students by mathematics.

4. Every student cannot comprehend the abstraction in mathematics so it should be an optional subject after class VIl

Question Number : 51 Question Id : 8247242977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8247242978 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT related to the development of number sense?

Options :



1. Seriation
2. Hierarchical inclusion
3. Classification

4. EgO centrism

Question Number : 52 Question Id : 8247242978 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8247242979 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The knowledge of mathematical language helps

(a) In the development of problem solving skills

(b) In the development of communicative and speaking skills
(c) In the development of reasoning skills

Choose the correct option.

Options :

: MCQ Option Shuffling : Yes Is

: MCQ Option Shuffling : Yes Is



. (a) and (b)

—

2. only (b)

only (c)

w

_ (a) and (c)

D

Question Number : 53 Question Id : 8247242979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8247242980 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When asked to solve 56 + 42, a class Il child solved it in the following way
56 +42=50+40+6+2=90+8=98
As a mathematics teacher what will be your reaction towards the student.

Options :

1 Discourage the student from evolving his /her own strategy to solve problems
2 Scold the student since the process done was not helping to learn the column method of addition
3 Direct the student to see how other students have solved the problem and seek their help to solve it in the correct way

Appreciate the student for solving the problem using an alternative strategy since it will enhance creativity and critical
4. thinking

Question Number : 54 Question Id : 8247242980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-

T FT 11 % BT I S 56 + 42 F1 & T 3 To70 o] T 1 96 39 7 b & ot —

56+42=50+40+6+2=90+8=98

e TV ST % %9 5 A0 36 T 3 e 31 Seta 2

Options:
| T I T T A o (A0, YT 9 S T ST o oAU, Feleied & |

, BT I ST FI1R T2 Aiswan w fafer & i o Hiee © g T e 2 |

5, TP R % o 7 4 o 0 T % O o 8 61 4T S T . e 1 ) T e



T 1 TOTET . 15 S 940 1 1 S 3 T oo ORI 21 ST fere 16 308 T 1
™, [at e »
FTAATT = tra'%;aﬂ’r% |

Question Number : 55 Question Id : 8247242981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following will promote collaborative and active learning?
Options:

1. Students classifying shapes based on a criteria evolved by them through their classroom discussions,

Teacher sharing the process of multiplication of two digit numbers and encouraging the students to practice similar
o problems.

3. Instruct students to solve questions at home and submit it to the teacher.

4 Provide mathematical games and riddles to each of the students and ask them to share their answers.

Question Number : 55 Question Id : 8247242981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 8247242982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher gives the following problem in her class:
“Encircle the greater number in the given pairs.”
(3)9X30r9=3

(b)9X0.30r9+0.3

(c)0.9X030r09+0.3

This type of problem can be used by a teacher :

Options:
1. For assessing multiplication and division of whole numbers
5 Asa diagnostic test to address misconceptions in multiplication and division of decimal numbers

3 To assess whether students can recall the multiplication tables of 3 and 9.

4. For comparison of whole numbers.

Question Number : 56 Question Id : 8247242982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 8247242983 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT a mathematical process?
Options :

1. Problem solving

2. Visualization

3. Representation



a. Adaptation

Question Number : 57 Question Id : 8247242983 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 8247242984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Word Problems in mathematics should be included at primary level because
Options :

1 Ability to understand, interpret and solve word problems effectively are important skills to be acquired by students.
5 They are the only tool to teach language of mathematics.

3 Frequent use of word problems make students efficient in English language.

4. They are easy to solve hence help students to score better marks in mathematics.



Question Number : 58 Question Id : 8247242984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8247242985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Use of the game “Snakes and Ladders” in mathematics teaching is most appropriate for developing the concepts
related with

Options :
1. Measurements
2. Numbers

3. Shapes

A Geometry



Question Number : 59 Question Id : 8247242985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8247242986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following steps demonstrates the highest level in conceptual development of ‘patterns’ in children?
Options :

1. Identification of patterns

2. Extension of patterns

3. Imitating a pattern

4 Creating new patterns



Question Number : 60 Question Id : 8247242986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Environmental Studies
Section Id : 82472485
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724161

Question Shuffling Allowed : Yes



Question Number : 61 Question Id : 8247242987 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In class V while discussing the chapter ‘Whose Forests?’, the teacher narrated a true anecdote of

Suryamani who started a centre named 'Torang' to deal with:
A) Issues of land and livelihood

B) Issues of hunger

C) Issues of forests

D) Issues of Kuduk culture
Options:

1. Aonly

2.Band C

3.Aand D

4.D only

Question Number : 61 Question Id : 8247242987 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 8247242988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The spirit of team work is learnt from which of the following:
Options :

1. Family

2. Sports and family

3. Family, society and sports

4. Conducting competition

Question Number : 62 Question Id : 8247242988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 8247242989 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a social insect?
Options :

1. Ants

2. Termites

3. Beetle

4. Honey bee

Question Number : 63 Question Id : 8247242989 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ahaa*

Question Number : 64 Question Id : 8247242990 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Valsad town is located in which direction from Hyderabad (Telengana state)?

Options :



1. South west
2. North
3. West

4. North west

Question Number : 64 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 8247242990 Question Type : MCQ Option Shuffling : Yes Is
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Question Number : 65 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 8247242991 Question Type : MCQ Option Shuffling : Yes Is

Which of the following currency is used in Abu Dhabi?

Options :
1. Dollar

2. Rupees
3. Dirham

4. Taka

Question Number : 65 Question Id

: 8247242991 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 66 Question Id : 8247242992 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In 'Cheraw' dance, people sit in pairs in front of each other, holding bamboo sticks on the ground.
As the drum beats, the bamboos are beaten to the ground. Dancers step in and out of the
bamboo sticks and dance to the beat. In which of the following states is 'Cheraw' dance

performed?
Options :
1. Manipur
2. Mizoram
3. Assam

4. Odisha

Question Number : 66 Question Id : 8247242992 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 67 Question Id : 8247242993 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rain water from the roof top was conserved and used for recharge of ground water. This

traditional method was used by which of the following states?
Options:

1. Madhya Pradesh

2. Rajasthan

3. Punjab

4. Bihar

Question Number : 67 Question Id : 8247242993 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 8247242994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Brahmaputra river flows through which of the following states in India?
Options :

1. Assam and Mizoram

2. Meghalaya

3. Arunachal Pradesh and Assam

4. Tripura and Manipur

Question Number : 68 Question Id : 8247242994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247242995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Family plays an important role in socialisation of the young generation. In this regard, the family is

an agency of:

Options :

1. primary socialisation

2. secondary socialisation

3. primary and secondary socialisation

4. tertiary socialisation

Question Number : 69 Question Id : 8247242995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247242996 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Many movements have endorsed the need to save the environment. Who amongst the following

played a crucial role in the Chipko Andolan of 1970s?
Options :

1. Vandana Shiva

2. Sundarlal Bahuguna

3. Medha Patkar

4. Baba Amte

Question Number : 70 Question Id : 8247242996 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 8247242997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Due to construction of large dams in the states of Maharashtra, Madhya Pradesh and Gujarat, the

indigenous people were compelled to move out of their habitats. This kind of movement is called



Options :

1. Transfer

2. Immigration
3. Outmigration

4. Displacement

Question Number : 71 Question Id : 8247242997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 8247242998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

We should not leave cooked food uncovered or unrefrigerated for long duration. Which agents are

responsible for spoilage of cooked food?
Options :

1. Insects

2. Virus

3. Fungus



4. Bacteria

Question Number : 72 Question Id : 8247242998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

g, I

Question Number : 73 Question Id : 8247242999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The date of packaging is mentioned on every packed food item, because:

(A) Every food item has their own self life.

(B) During processing and packaging of food items some preservatives are used.
(C) After certain period some pathogens develop in it to spoil.

(D) We should not consume expired food items.

Options :



1.A,B,C&D
2.A,B&C
3.A,B&D

4.B & Conly

Question Number : 73 Question Id : 8247242999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247243000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to prevent the mosquitoes proliferation, many methods are suggested. Find out a

method which does not check the breeding of mosquitoes among the following:
Options :

1. Keep changing the water from the cooler at least twice in a week



2. Put fish in the ponds and water logging areas, so they eat the mosquitoes larvae
3. Use of mosquito nets

4. Spray oil if water has collected at any place

Question Number : 74 Question Id : 8247243000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247243001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Doctors advise diarrhoea patients to drink plenty of boiled and cooled water having a pinch of salt

and sugar, because
(A) only sugar water cannot be absorbed in the intestine
(B) combination of sugar and salt can be easily absorbed

(C) boiling water makes the water germfree



Choose the correct option.
Options :

1.A,B&C

2. B only

3. Conly

4.B and Conly

Question Number : 75 Question Id : 8247243001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247243002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In class I, a teacher Joseph while teaching the chapter 'Food we eat' asks students to discuss



what they ate yesterday. What is the objective of this discussion?
Options:

1. Sharing with peers what they ate

2. Sharing aspects on food diversity

3. Sharing what is balanced diet

4. Sharing what is normal to eat

Question Number : 76 Question Id : 8247243002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247243003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In class 4, chapter 5 'Antia and the Honeybees', a true story of Anita Khushwaha has been narrated

highlighting her as a 'girl star'. What is the most appropriate objective of such an initiative?
Options:

1. Showing how girls are happy and underline the much needed support to them



2. Showing girl power is dynamic and speaks volumes about equality and empowerment.
3. Showing how girls are ignorant and need guidance

4. Showing how girls are a burden on their family and society

Question Number : 77 Question Id : 8247243003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247243004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In class 1V, the chapter on 'The world in my home' a story on Akshay tells about how his
grandmother tells him not to eat or drink at Anil's home. What important message children learn

from this story?

Options :

1. Existence of equality and harmony in our society

2. Existence of caste discrimination and untouchability
3. Existence of communalism

4. Existence of religious discrimination



Question Number : 78 Question Id : 8247243004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 4 35 AT T T R R o A ¢, S & o o e a7 99 oA 5 o 0
T 1 G o T 8 | 8 S e 1 - e v e 27

Options :

| THN HHTS § HHRAT 3R SR i AT

ST e UF STEqwadT o1 SAedes

[
3 WTEIETEFAT 7 AT

i i -
4. HTHH HSHTH R AT

Question Number : 79 Question Id : 8247243005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements define peer assessment in EVS?

Options :

1. It focuses on a student's own assessment of her learning and progress in knowledge
2. It focuses on a student while she is doing an activity

3. It focuses on students assessing other students in pairs or in groups

4. It focuses on the learning and progress of group of students

Question Number : 79 Question Id : 8247243005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247243006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In class III, chapter 'Work We Do', the story of Deepali is to focus on:
Options :

1. The concept of dignity of labour

2. The concept of equal pay for equal work

3. The concept of gender bias in household work

4. The concept of profession

Question Number : 80 Question Id : 8247243006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247243007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Oral history is an important means to collate experiences of specific groups of the society. In this

context indicate the statement that best illustrates its usage:

Options :

1. Teacher asks students to orally learn historical facts about India's independence.

2. Teacher asks students to give an oral presentation of India's history.

3. Teacher asks students to collect experiences of grandparents about the freedom struggle.

4. Teacher asks students to orally list the names of famous freedom fighters.

Question Number : 81 Question Id : 8247243007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247243008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mapping skills are essential for a student to understand space. Suggest which of the following

statements about maps are correct:

A) A map is always made assuming that a person is looking at a place from the ground.
B) We use symbols to show objects, walls, roads etc.

C) We measure actual distances and depict the same.

D) The north in a map is always towards the top margin.
Options :

1.A&C

2.B&D

3.C&D

4. A&D

Question Number : 82 Question Id : 8247243008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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, B&D

;3 C&D

4 A&D

Question Number : 83 Question Id : 8247243009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the best resource to discuss the issue 'water scarcity' and its impact on
any region:

Options :

1. Textbooks

2. Audio aids

3. Encyclopaedia

4. Newspaper reports

Question Number : 83 Question Id : 8247243009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247243010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true in relation to the students learning EVS?

Options:

1. Students are 'empty vessels' or 'blank slates' to be filled up with information that the school only
can give.

2. All students are same and they respond similarity while learning

3. Students learn in a linear way. This new leaning is to be derived from the preceding facts and

information

4. Students learn in a spiral way. Every student is a unique individual, she/he learns and respond

to situations in her/his own way.

Question Number : 84 Question Id : 8247243010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247243011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Portfolio is an important assessment tool for assessing students' learning. Which among the

following statements defines portfolios in the more appropriate manner?

Options :

1. Information is gathered about students in natural settings. It could be based on teacher's
observation about students in the course of teaching.

2. It involves collection and analysis of data undertaken once a period of time.

3. A systematic way of recording specific behaviour that helps focus attention on particular

aspects.

4. Collection of a student's work over a period of time. Usually, day-to-day work or selection of the

student's best piece of work.

Question Number : 85 Question Id : 8247243011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247243012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Conflict issues surface quite often in the classroom. As a teacher, when a student brings about a

socio-cultural issue for discussion, how would you respond?

Options :

1. Tell the student to not get distracted and focus on theme under study.
2. Tell the students to discuss this issue after the class with you.

3. Tell the student to ask his/her parents and not bring it to the school.

4. Tell the student to share his/her experience and try to address the same in the class.

Question Number : 86 Question Id : 8247243012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247243013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher is keen that her students develop an understanding about plants. What among the

following does she need to do?

Options :

1. Tells students to memorise names of plants and share in the class.

2. Tells students to ask their parents about varieties of plants.

3. Tells students to accompany her in the school garden and identifies all plants.

4. Tells students to watch videos on their own and identify the plants

Question Number : 87 Question Id : 8247243013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247243014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Farah while teaching the theme 'Means of communication' to class III students uses which of the

following strategies to encourage inquiry among learns?

A) Asks students to collect and classify pictures of means of communication



B) Shows a video of means of communication
C) Asks students to narrate their experiences of means of communication and discusses with them

D) Shows a power-point presentation on means of communication
Options :

1.A&B

2.A&D

3.A&C

4. A only

Question Number : 88 Question Id : 8247243014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247243015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In class IIT chapter 'Flying High' while discussing the topic birds, a teacher Tina asks students to

observe bird and their characteristics in their surroundings. The purpose of this activity is to:
Options :

1. Develop information base on birds among students

2. Develop knowledge base about birds among students

3. Develop interest of students in birds

4. Develop scientific understanding of birds by students

Question Number : 89 Question Id : 8247243015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247243016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seema, an EVS teacher asked students to collect object around them like metal pen, steel spoon,



plastic spoon and put the objects one by one in a bucket of water and observe whether they float
or sink. Students asked her why steel spoon sinks, but plastic spoon floats. She did not think it was

necessary to introduce 'density' to explain to them, because
Options :

1. they cannot remember the concept of density.

2. they form alternate conceptions about density.

3. they will learn 'density' on higher classes.

4. they cannot conduct activities related to 'density' to understand it.

Question Number : 90 Question Id : 8247243016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
SectionId : 82472486

Section Number: 4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724162
Question Shuffling Allowed : Yes

Question Id : 8247243017 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the questions
that follow by choosing the correct / most appropriate options.

1. Sindhutai was born on 14% November 1948 in the cattle
grazing family in Maharashtra’s Wardha district. Her father
was keen to educate her but mother was not. At the age of
ten she was married to a man twenty years her senior. Post
marriage she faced a difficult life but she did not lose hope.
In her new home she fought against the exploitation of local
women, who collected cow dung, by the forest department
and landlords. This only made things more difficult for her.

I-d

At the young age of twenty, when nine-months pregnant, she
was beaten badly and left to die by her husband. She gave
birth to a baby girl Mamta in that semi-conscious state and
struggled to stay alive. Sindhutai took to begging on the
streets and railway platforms to survive. Because she feared
being picked up by men at night she often spent the night at
cemeteries. Such was her condition that people called her a
ghost since she was seen at night in the cemeteries.

3. In this constant tussle to survive, she found herself in
Chikaldara, situated in the Amravati district of Maharashtra.
Here, due to a tiger preservation project, 84 tribal villages
were evacuated. Amidst the confusion, a project officer
impounded 32 cows of Adivasi villagers and one of the cows

died. Sindhutai decided to fight for the proper rehabilitation
of the helpless tribal willagers. Her efforts were
acknowledged by the Minister of Forests and he made
appropriate arrangements for alternative relocation.

4. Tt was during these tiring times that she realized how difficult
it would be for abandoned children or orphans and decided
to do something for them. Her first adopted child was
Deepalk, whom she found on a railway track. Quite soon she
had adopted sixteen children.

5. So Sindhutai started taking care of children in return for
some food. Looking after these kids soon became the mission

of her life. She set up four NGOs to accomplish her mission.

6. This way Sindhu became Sindhutai or Mai or mother of
orphans.

Sub questions

Question Number : 91 Question Id : 8247243018 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sindhutai directed her ire at the forest department and
landlords as

1. the landlords fundamentally deprived the tribals of

their land.

they forced women to do all kinds of menial jobs for

them

3. they charged exorbitant interest on loan to the poor.

4. the forest officials exploited local women who
collected cow dung.

)

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247243019 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why did Sindhutai spend the night at cemeteries?

She had no roof over her head.

She was shunned by her neighbours.

People considered her a sorceress and avoided her.
She feared being picked up by men at night.

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247243020 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In which sense was Sindhutai a saviour for the adivasis of
Chikaldara?

1. She united them against their oppressors.

She got the tribals whose land was acquired by the

government, rehabilitated.

She persuaded them to give up the superstitious

beliefs and think rationally.

4. She worked for the economic and educational
empowerment of the adivasis.

1

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247243021 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option which is Not True according to the

passage?
1. She adopted orphans and abandoned children.
2. She set up four NGOs for them.
3. She got the most brilliant children admitted to public

schools.
4. She ensured that they were well taken care of.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247243022 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What earned Sindhu the title of Sindhutai or Sindhumai?

her work for the adivasis

her invaluable work for the orphans
her leadership quality

her empowerment of the poor adivasis

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247243023 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is similar meaning to the
word, ‘Constant” as used in para 3 of the passage?

reasoning
tough
continuing
perturbing

e oo

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247243024 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is the most opposite in
meaning to the word ‘abandoned’ as used in the para 4 of
the passage?

preferred
accomplished
protected
promoted

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247243025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

Her first adopted child was Deepak

Noun
Adjective
Pronoun
Adverb

il il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247243026 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?

The price ofthis car is higher than yours
(a) (b) (c) (d)

1. (b)
2. (c)
3. (d)
. (a)

'y

Options :
1.1
2.2
3.3
4.4

Question Id : 8247243017 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the questions
that follow by choosing the correct / most appropriate options.

1. Sindhutai was born on 14% November 1948 in the cattle
grazing family in Maharashtra’s Wardha district. Her father
was keen to educate her but mother was not. At the age of
ten she was married to a man twenty years her senior. Post
marriage she faced a difficult life but she did not lose hope.
In her new home she fought against the exploitation of local
women, who collected cow dung, by the forest department
and landlords. This only made things more difficult for her.

I-d

At the young age of twenty, when nine-months pregnant, she
was beaten badly and left to die by her husband. She gave
birth to a baby girl Mamta in that semi-conscious state and
struggled to stay alive. Sindhutai took to begging on the
streets and railway platforms to survive. Because she feared
being picked up by men at night she often spent the night at
cemeteries. Such was her condition that people called her a
ghost since she was seen at night in the cemeteries.

3. In this constant tussle to survive, she found herself in
Chikaldara, situated in the Amravati district of Maharashtra.
Here, due to a tiger preservation project, 84 tribal villages
were evacuated. Amidst the confusion, a project officer
impounded 32 cows of Adivasi villagers and one of the cows

died. Sindhutai decided to fight for the proper rehabilitation
of the helpless tribal willagers. Her efforts were
acknowledged by the Minister of Forests and he made
appropriate arrangements for alternative relocation.

4. Tt was during these tiring times that she realized how difficult
it would be for abandoned children or orphans and decided
to do something for them. Her first adopted child was
Deepalk, whom she found on a railway track. Quite soon she
had adopted sixteen children.

5. So Sindhutai started taking care of children in return for
some food. Looking after these kids soon became the mission

of her life. She set up four NGOs to accomplish her mission.

6. This way Sindhu became Sindhutai or Mai or mother of
orphans.

Sub questions

Question Number : 91 Question Id : 8247243018 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sindhutai directed her ire at the forest department and
landlords as

1. the landlords fundamentally deprived the tribals of

their land.

they forced women to do all kinds of menial jobs for

them

3. they charged exorbitant interest on loan to the poor.

4. the forest officials exploited local women who
collected cow dung.

)

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247243019 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why did Sindhutai spend the night at cemeteries?

She had no roof over her head.

She was shunned by her neighbours.

People considered her a sorceress and avoided her.
She feared being picked up by men at night.

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247243020 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In which sense was Sindhutai a saviour for the adivasis of
Chikaldara?

1. She united them against their oppressors.

She got the tribals whose land was acquired by the

government, rehabilitated.

She persuaded them to give up the superstitious

beliefs and think rationally.

4. She worked for the economic and educational
empowerment of the adivasis.

1

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247243021 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the option which is Not True according to the

passage?
1. She adopted orphans and abandoned children.
2. She set up four NGOs for them.
3. She got the most brilliant children admitted to public

schools.
4. She ensured that they were well taken care of.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247243022 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What earned Sindhu the title of Sindhutai or Sindhumai?

her work for the adivasis

her invaluable work for the orphans
her leadership quality

her empowerment of the poor adivasis

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247243023 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is similar meaning to the
word, ‘Constant” as used in para 3 of the passage?

reasoning
tough
continuing
perturbing

e oo

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247243024 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is the most opposite in
meaning to the word ‘abandoned’ as used in the para 4 of
the passage?

preferred
accomplished
protected
promoted

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247243025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

Her first adopted child was Deepak

Noun
Adjective
Pronoun
Adverb

il il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247243026 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?

The price ofthis car is higher than yours
(a) (b) (c) (d)

1. (b)
2. (c)
3. (d)
. (a)

'y

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724163

Question Shuffling Allowed : Yes

Question Id : 8247243027 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the following poem and answer the questions by
choosing the correct / most appropriate options.

Mother to Son

Well, son I'll tell you:

Life for ain’t been no crystal stair
It’s had tacks in it,

And splinters

And boards torn up,

And places with no carpets on the floor —
Bare

But all the time

I’'ve been a-climbing’ on,

And reaching laudin’s,

And turning corners,

And sometimes goin’ in the dark
Where there ain’t been no light.

So, boy, don’t you turn back.

Don’t you sit down on the steps

"Cause you find it’s kinder hard.

Don’t you fall now, -

For I'm still goin’, honey,

I'm still climbin’,

And life for me ain’t been no crystal stair.

Sub questions

Question Number : 100 Question Id : 8247243028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem *Mother to Son’ is about

1. the exploitation of the marginalised sections of the

society by the rich.

the indignities and the injustice suffered by the poor.

the callous and irresponsible attitude of the

authorities to the poor.

4. a mother giving advice to her son about challenges of
life

s 1

Options :
1.1
2.2



3.3
4.4

Question Number : 101 Question Id : 8247243029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the correct option.

The speaker’s heart is full of bitterness.
She feels utterly helpless.

She is determined to punish her oppressors
She possesses an indomitable spirit.

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247243030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mother wants her son to

forgive the oppressors

face challenges of life with determination.
give a befitting reply to the oppressors.

urge like-minded people to fight oppressions.

Lot e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247243031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Read the following statements and select the correct option:

A. The last lines of the poem show that the speaker is
tired and less enthusiastic.

B. The speaker fears he son might give up the fight
against oppression

A Is true and B is false.
B is true and A is false.
Both A and B are false.
Both A and B are true.

o bl

>

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247243032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the name of the figure of speech used in line 2 of
the poem — “Life for me ain’t been no crystal stair.”

Smile
Personification
Metaphor
Synecdoche

o bt

el

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247243033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify the name the literacy device used in the line, “So
boy, don’t you turn back.”

1. Alliteration
2. Assohance
3. Simile
4. Irony

Options :
1.1
2.2
3.3
4.4

Question Id : 8247243027 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the following poem and answer the questions by
choosing the correct / most appropriate options.

Mother to Son

Well, son I'll tell you:

Life for ain’t been no crystal stair
It’s had tacks in it,

And splinters

And boards torn up,

And places with no carpets on the floor —
Bare

But all the time

I’'ve been a-climbing’ on,

And reaching laudin’s,

And turning corners,

And sometimes goin’ in the dark
Where there ain’t been no light.

So, boy, don’t you turn back.

Don’t you sit down on the steps

"Cause you find it’s kinder hard.

Don’t you fall now, -

For I'm still goin’, honey,

I'm still climbin’,

And life for me ain’t been no crystal stair.

Sub questions

Question Number : 100 Question Id : 8247243028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem *Mother to Son’ is about

1. the exploitation of the marginalised sections of the

society by the rich.

the indignities and the injustice suffered by the poor.

the callous and irresponsible attitude of the

authorities to the poor.

4. a mother giving advice to her son about challenges of
life

s 1

Options :
1.1
2.2



3.3
4.4

Question Number : 101 Question Id : 8247243029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the correct option.

The speaker’s heart is full of bitterness.
She feels utterly helpless.

She is determined to punish her oppressors
She possesses an indomitable spirit.

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247243030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mother wants her son to

forgive the oppressors

face challenges of life with determination.
give a befitting reply to the oppressors.

urge like-minded people to fight oppressions.

Lot e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247243031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Read the following statements and select the correct option:

A. The last lines of the poem show that the speaker is
tired and less enthusiastic.

B. The speaker fears he son might give up the fight
against oppression

A Is true and B is false.
B is true and A is false.
Both A and B are false.
Both A and B are true.

o bl

>

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247243032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the name of the figure of speech used in line 2 of
the poem — “Life for me ain’t been no crystal stair.”

Smile
Personification
Metaphor
Synecdoche

o bt

el

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247243033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify the name the literacy device used in the line, “So
boy, don’t you turn back.”

1. Alliteration
2. Assohance
3. Simile
4. Irony

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724164

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247243034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following describes how language learners evaluate the accuracy of their language vse?

l. Input Hypothesis

2. Natural Order Hypothesis

3. The Affective Filter Hypothesis
4. The Monitor Hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247243034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following describes how language learners evaluate the accuracy of their language use?

I. Input Hypothesis

2. Natural Order Hypothesis

3. The Affective Filter Hypothesis
4. The Monitor Hypothesis

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247243035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Brainstorming activity helps in.............

generating creative ideas
stressing the brain
generating queries
giving feedback

P g

e

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247243035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Brainstorming activity helps in.............

generating creative ideas
stressing the brain
generating queries
giving feedback

s vl

e



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247243036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A method which builds the coordination of speech and action is

Total Physical Response
Story telling

Task Based Method
Role Plaving

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247243036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A method which builds the coordination of speech and action is

Total Physical Response
Story telling

Task Based Method
Role Playing

P g

e

Options :
1.1
2.2
3.3



4.4

Question Number : 109 Question Id : 8247243037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which method helps the student to develop their speaking skill?

Structural approach
Constructivism approach
Communicative approach
Grammar Translation method

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247243037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which method helps the student to develop their speaking skill?

Structural approach
Constructivism approach
Communicative approach
Grammar Translation method

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247243038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In reading skills, scanning is

a strategy used for studying the four language skills.

to summarize the text and to get its main idea.

a reading technique used to find specific facts or information in a text.
read the final sentence of each paragraph in a text.

Sy e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247243038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In reading skills, scanning is

a strategy used for studying the four language skills.

to summarize the text and to get its main idea.

a reading technique used to find specific facts or information in a text.
read the final sentence of each paragraph in a text.

i e

e

Options:
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247243039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



It is composed of inferrelated and rule-governed symbol systems: it is also a social and uniquely human means of
representing, exploring, and communicating meaning. What is it?

. Education
2. Language
3. Learning
4. Principle

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247243039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is composed of Interrelated and rule-governed symbol systems; it is also a social and uniquely human means of
representing, exploring, and communicating meaning. What s it?

. Education
2. Language
3. Learning
4. Principle

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247243040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An approach tell us..........

1. What to teach
2. How to teach
3. Whom to teach
Where to teach

e

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247243040 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An approach tell us..........

What to teach
How to teach
Whom to teach
Where to teach

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247243041 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the teaching learning process the purpose of assessment is to

1. provide feedback to learners

2. provide information to the school administration
3. diagnose the strength and weaknesses in teaching
4. find errors and do corrections

Options :

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247243041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the teaching learning process the purpose of assessment is to

provide feedback to learners

provide information to the school administration
diagnose the strength and weaknesses in teaching
find errors and do corrections

Wb -

e

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247243042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct sequence of language acquisition stages.

. Babbling, Cooing, The one-word stage, Telegraphic speech, and The two-word stage

. Cooing, Babbling, Cooing, The one-word stage, Telegraphic speech, and The two-word stage
. Cooing, Babbling, Cooing, Telegraphic speech, The one-word stage, and The two-word stage
. Cooing, Babbling, Cooing, The one-word stage, The two-word stage, and Telegraphic speech

e L B3 —

Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 8247243042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct sequence of language acquisition stages.

1. Babbling, Cooing, The one-word stage, Telegraphic speech, and The two-word stage

2. Cooing, Babbling, Cooing, The one-word stage, Telegraphic speech, and The two-word stage
3. Cooing, Babbling, Cooing, Telegraphic speech, The one-word stage, and The two-word stage
4. Cooing. Babbling, Cooing, The one-word stage, The two-word stage, and Telegraphic speech

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247243043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A method of language teaching that focuses on the belief that the fluent use of language might develop with a lot of
practice repeating oral skills.

[ The Audio Lingual Method
2. Grammar Translation

3. Total Physical Response

4. Competency-based approach

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247243043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A method of language teaching that focuses on the belief that the fluent use of language might develop with a lot of
practice repeating oral skills.

. The Audio Lingual Method
2. Grammar Translation

3. Total Physical Response

4, Competency-based approach

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247243044 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To locate and identify the areas of learning difficulties leads to

achievement testing
proficiency testing
diagnostic testing
weekly testing

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247243044 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



To locate and identify the areas of learning difficulties leads to

achievement testing
proficiency testing
diagnostic testing
weekly testing

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247243045 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom a teacher had displayed charts and drawings on the walls; placed learners work on the bulletin board,
labelled various classroom objects in English and learners® home language. The teacher has set an example of

1. input rich environment
2. language composition
3. language acquisition

4. language comprehension
Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247243045 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In a classroom a teacher had displayed charts and drawings on the walls; placed learners work on the bulletin board,
labelled various classroom objects in English and learners® home language. The teacher has set an example of

1. Input rich environment
2. language composition
3. language acquisition

4. language comprehension
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247243046 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which approach to writing could help learners to develop independent writing skill by following various stages of

development?
1. Process approach to writing

2. Product approach to writing
3. Dictation of writing piece
4. Note taking and summarising
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247243046 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which approach to writing could help learners to develop independent writing skill by following various stages of

development?
1. Process approach to writing

2. Product approach to writing
3. Dictation of writing piece
4, Note taking and summarising
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247243047 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The language used in the playground, on the phone, or to interact socially with other people is part of

L. Basic Interpersonal Communicative Skills (BICS)
2. Cognifively Advanced Language Proficiency (CALP)
3. Discourse competency

4. Group Discussion
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247243047 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The language used in the playground, on the phone, or to interact socially with other people is part of

|. Basic Interpersonal Communicative Skills (BICS)
2. Cognitively Advanced Language Proficiency (CALP)
3. Discourse competency

4. Group Discussion
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247243048 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
New Education Policy (NEP 2020) advocates

1. Sanskrit/ Classical language as medium of instruction across schooling.

Mother tongue as medium of instruction across schooling.

[

g

Hindi as medium of instruction across schooling.

>

English as medium of instruction across schooling.
Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 8247243048 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



New Education Policy (NEP 2020) advocates

I. Sanskrit/ Classical language as medium of instruction across schooling.

Mother tongue as medium of instruction across schooling.

I

3. Hindi as medium of instruction across schooling.

4. English as medium of instruction across schooling.
Options :
1.1
2.2
3.3
4.4

Language II

SectionId: 82472487
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724165
Question Shuffling Allowed : Yes

Question Id : 8247243049 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247243050 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T+t 3Tt & Tarfera sates it e TEEE AT B
. STOT HTGTST S FaqaT
. TS TS I
3. ST ATNTST AT ST W H FaqaT
4. T ATETST AT ToRHT o7 Taawl WISt F e
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247243051 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
WA o971 o Tore farfera aeam sirar 22
|. T 37O AT 56 B
2. ST U T H T
3. ST ST TTHTST AT R 37 e 7T 3

I
4. S AU 9T % Ay ferdt o1 aefg T e T
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247243052 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247243053 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

WA =X F S15-H & 10 A
1. T AT W T
2. ST ITF
3. T SU=ROT

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 8247243054 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. AT WTST 5 TEeh 10 3l Qe 7 2T
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Options :

-3

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247243055 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247243056 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247243057 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 8247243049 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No

Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247243050 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

wft 39Tt & Torferm =t 1 g ve=H AT 2
. 7T ATEATST F FeTaT
. ST 9T ZaT
3. TUHT TTTST FYT ST AT H F8aT
4. AU ATGETST T ToRET o TRl | F e
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247243051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WA 297 ¥ T TaThers wmem sirar 22
|. T STOHT AT 56 8
2. ST SIS W H F
3. T AT AIGHTST AT TR 37 &1 |7 5 3
4. ST AT 97T F WY T = &g wmer A ger 2

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247243052 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247243053 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WA =% TIS-9SS] & o0 AR
. TTATST 3 AT T
2. mﬂﬁmmw
3. AT SUSHOT

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247243054 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247243055 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247243056 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FI-H1 9763 T F T 2

I3

=S
T
3. ¥R
4. 3
Options :
1.1
2.2
3.3

4.4

Question Number : 128 Question Id : 8247243057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1. ferfema
. Tarem
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Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724166

Question Shuffling Allowed : Yes

Question Id : 8247243058 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 8247243059 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS 3 To=RT A9T STEER W g e wi st
TEaT 2

I, e

2. UTH-UZF T

3. WA @

4. TT-HETRET
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 8247243060 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 8247243061 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3

4.4

Question Number : 132 Question Id : 8247243062 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 8247243063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247243064 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 8247243065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Id : 8247243058 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 8247243059 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 130 Question Id : 8247243060 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 8247243061 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 8247243062 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
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4.4

Question Number : 133 Question Id : 8247243063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247243064 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 135 Question Id : 8247243065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 824724167

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 8247243066 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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